
  



Answer any 10 questions from 1 to 12. 

Each carries 1 score (10 x 1=10) 

1 apXÂ 12 hscbpÅ tNmZy§fnÂ 10 
F®¯n\v D¯csagpXpI.  
( 1 kvtImÀ hoXw.)                     (10 x 1=10) 

 

1. New name of planning commission? 

• National Development council 

• NITI Ayog 

• Community Development program 

• Lakadwala committee 

1. Bkq{XWI½ojsâ ]pXnb t]cv? 

• tZinb hnIk\kanXn 

• \oXn BtbmKv 

• IayqWnän Uhes¸âÂ t{]m{Kmw 

• e¡Uvhme I½nän 

 

2. Father of Green Revolution in India? 

• Norman Barlog 

• Varghese Kurian 

• M.S Swami Nadhan 

• K.R Narayan 

2. C´ybnse lcnX hn¹h¯nsâ ]nXmhv? 

• t\mÀam³ _ÀtemwKv 

• hÀKokv Ipcy³ 

• Fw.kv kzman\mY³ 

• sI.BÀ \mcmbW³ 

 

3. Which is known as World Bank? 

• IMF 

• IBRD 

• NABARD 

• RBI 

3. Xmsg ]dbp¶hbnÂ GXmWv temI_m¦v 
F¶dnbs¸Sp¶Xv? 

• IMF 

• IBRD 

• NABARD 

• RBI 

4. Who Estimated Jail cost of living Index? 

• V.K .R.V Rao 

• DadaMai Navaroji 

• R.C Desai 

• Findlay Shirras 

4. PbnÂ \nehmc kqNnI I−p]nSn¨Xmcv? 

• hn.sI.BÀ.hn.dmhq 

• ZmZm`mbn \htdmPn 

• BÀ.kn.tZimbn 

• ^n³Uvse jndmkv 

 

5. __________ is the Apex Bank for Rural 

Credit. 

• RRB 

• Co-operative Credit Societies  

• NABARO 

• SHG 

5. KmaoW hmbv]IÄ \ÂIp¶ Gähpw 
D¶Xamb _m¦v? 
• RRB, 

• Co-operative credit socities, 

• NABARD, 

• SHG 

 

6. Disguised Unemployment exist 

in_________. 

• Agriculture 

• Industry 

• Banking 

• Trade 

6. {]O¶ sXmgnenÃmbva C´ybnÂ 

ImWp¶ taJe_____________ 

• Irjn 

• hyhkmbw 

• _m¦nwKv 

• hym]mcw 
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7. Chipko Movement is related with 

_______. 

• Protecting Forest 

• Protecting River 

• Protecting Animals 

• None of these 

7. Nn]vtIm {]Øm\w 

_Ôs¸«n¡p¶Xv_____________ 
• h\kwc£Ww 

• \Zn kwc£Ww 

• arK kwc£Ww 

• Chsbm¶paÃ 

8. One child norm started in china in the 

year____. 

• 1999 

• 1978 

• 1979 

• 1980 

8. ssN\bnÂ HäIp«n \bw \S¸nem¡nb 
hÀjw 

• 1999 

• 1978 

• 1979 

• 1980 

 

9. A Bivariate Frequency Distribution is 

the Frequency Distribution of ______ 

variable. 

• 1 

• 2 

• 3 

• 4 

9. Bivariate Bhr¯n hnXcWw F{X 
Nc§fpsS Bhr¯n 

hnXcWamWv______________ 

• 1 

• 2 

• 3 

• 4 

 

10. Data collected in its original form are 

called_______. 

• Raw data 

• Primary Data 

• Secondary  Data 

• None of the above 

10. bYmÀ° cq]¯nÂ tiJcn¡p¶ 

Z¯§Ä Adnbs¸Sp¶Xv ________. 
• AkwkvIrX Z¯w 

• {]mYanI Z¯w 

• ZznXob Z¯w 

• Chsbm¶paÃ 

 

11. The index number which indicates 

changes in general price level is______. 

• Wholesale price index 

• Consumer price index 

• HDI 

• None of the above 

11. s]mXphne \nehmcs¯ kqNn¸n¡p¶ 
C³UIvkv \¼À GXv? 
• sam¯ hnekqNnI 

• D]t`màr hnekqNnI 

• am\h hnIk\ kqNnI 

• Chsbm¶paÃ 

 

12. Mode can be located only 

through______. 

• Bar diagram 

• Histogram 

• Ogive 

• None of the above 

12. Xmsg ]dbp¶hbnÂ GXnemWv tamUv 
\nÀWbn¡m³ Ignbp¶Xv? 
• _mÀUb{Kw 
• lnkvtäm{Kmw 
• HPohv 
• Chsbm¶paÃ 
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Answer any 5 questions from 13 to 18. 

Each carries 2 scores (5 x 2=10) 

13 apXÂ 18 hscbpff tNmZy§fnÂ 5 F®¯n\v 
D¯cw FgpXpI. 
( 2 kvtImÀ hoXw.)         (5x 2=10) 

 

13. Write any two examples of Qualitative 

and Quantitative data. 

 

13. KpWmXvaIhpw ]cnamWmßIhpamb 
Z¯§Ä¡v c−v DZmlcWw FgpXpI. 

 

14. Differentiate between primary data 

and secondary data.  

14. {]mYaoI Z¯§Ä, ZznXob Z¯§Ä 
X½nepÅ hyXymkw FgpXpI. 

 

15. List any two qualities of a good average  15. Hcp \Ã icmicnbpsS 2 ta·IÄ 
FgpXpI. 

 

16. List out the steps involved in project  16. t{]mPIvSv X¿dm¡p¶Xnsâ hnhn[ 
L«§Ä enÌv sN¿pI. 

 

17. List out four important index numbers 

used on Economics  

17. km¼¯nI imkv{X¯nÂ D]tbmKn¡p¶ 
\mev {][m\ kqNImw¦§Ä FgpXpI. 

 

18. List four causes of poverty 18. Zmcn{Z¯nsâ GsX¦nepw \mev 
ImcW§Ä FgpXpI. 

 

Answer any 6  questions from 19 to 25. 

Each carries 3 scores (6 x 3=18) 

19 apXÂ 25 hscbpff tNmZy§fnÂ 6 
F®¯n\v D¯cw FgpXpI.  
 ( 3 kvtImÀ hoXw.)                (6x3=18) 

19. What are the problems faced by 

fisherman in India. 

19. C´ybnse  aXvkysXmgnemfnIÄ 
A`napJoIcn¡p¶ {][m\ {]iv\§Ä? 

 

20. List out the functions of environment. 20. ]cnØnXnbpsS {][m\ [À½§Ä 
FgpXpI. 

21. The origin of financial crisis in 1991 can 

be traced from inefficient management 

of the Indian economy in 1990’s. 

Discuss. 

21. 1991 se km¼¯nI {]XnkÔnbpsS 
DÛhw 1990 þ Ifnse Imcy£aaÃm¯ 
`cWkwhn[m\amWv. NÀ¨ sN¿pI. 

 

22. What are the measures taken by the 

government to improve the agricultural 

marketing? 

22. ImÀjnI hn]W\w sa¨s¸Sp¯m³ 
Kh¬saâv \S¸nem¡nb \S]SnIÄ Gh? 

 

23. Categorize the following examples into 

formal sector workers and informal 

sector workers  

 

Teacher, Doctor, Handloom weavers, 

casual workers, nurse in government 

hospital, Shop keeper 

23. Hu]NmcnI sXmgnemfnIÄ, 
A\u]NmcnI sXmgnemfnIÄ F¶n§s\ 
Xmsg X¶ncn¡p¶hsb Xcw Xncn¡pI. 
 
A²y]I³,tUmIvSÀ,ssI¯dn 
sXmgnemfnIÄ,ZnhkthX\ 
sXmgnemfnIÄ,t\gvkv (Kh¬saâv 
Bip]{Xn),ISbpSa 

 

24. Discuss the salient demographic 

indicators of China, Pakistan and India.  

24. C´y, ]m¡nØm³, ssN\ F¶o 
cmPy§fnse P\kwJy kqNI§Ä 
NÀ¨sNbvXv Ipdn¸p X¿mdm¡pI. 
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25. Prepare a frequency distribution table 

from the following data taking a class 

interval of 5 (exclusive method) 

 

(1, 10, 3,6, 3,  2, 2, 4, 8, 3, 12, 5, 5, 2, 

9, 12, 8, 6, 5, 15, 20, 26, 30, 36, 31, 

28) 

25. Xmsg X¶ncn¡p¶ kwJyIsf 
ASnØm\am¡n Bhr¯n hnXcW ]«nI 

X¿mdm¡pI.(Class interval 5- exclusive 

method) 
 
(1, 10, 3, 6, 3, 2, 2, 4, 8, 3, 12, 5, 5, 
2, 9, 12, 8, 6, 5, 15, 20, 26, 30, 36, 
31, 28) 

 

Answer any 4  questions from 26 to 30. 

Each carries 4 scores (4 x 4 =16) 

26 apXÂ 30 hscbpff tNmZy§fnÂ 4 
F®¯n\v D¯cw FgpXpI. 
( 4 kvtImÀ hoXw.)                  (4x 4=16) 

 

26. Write notes on  

a. Animal Husbandry 

b. Fisheries 

c. Horticulture 

26. Ipdns¸gpXpI. 

a. arK ]cn]me\w 

b. aÕytaJe 

c. tlmÀ«nIÄ¨À 

27. Which are the qualities of a good 

questionnaire? 

27. Hcp \Ã tNmZymhen¡v th− 
khntijXIÄ Gh? 

 

28. Monthly expenses of a family are given 

below represent the data in the form of 

a pie diagram  

 

Item  Expenditure 

Food 

Rent 

Education 

Cloth 

Miscellaneous 

8000 

5000 

4000 

2000 

1000 
 

28. Hcp IpSpw_¯nsâ  amk sNehpIÄ 
Xmsg X¶ncn¡p¶p. Ah Hcp 
ss]Ub{K¯neqsS {]Xn\n[oIcn¡pI. 
 
 

C\§Ä sNehv 

`£Ww 8000 

hmSI 5000 

hnZym`ymkw 4000 

hkv{Xw 2000 

aäpNnehpIÄ 1000 
 

29. Calculate the price index number. 

Price of 

commodity 

(2016-17) 

Price of 

commodity 

(2011-12) 

9 

12 

10 

14 

6 

8 

7 

10 

 

29. hne kqNIm¦w IW¡m¡pI 
 
 
 
 
 

km[\ hne 
(2016þ-17) 

km[\ hne 
(2011-þ12) 

9 6 

12 8 

10 7 

14 10 
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30. Discuss various areas of liberalization. 30. DZmchÂ¡cW¯nsâ hnhn[ hi§Ä 
hniZoIcn¡pI. 

 

Answer any 2 questions from 31 to 33. 

Each carries 5 scores (2 x 5 =10) 

31 apXÂ 33 hscbpff tNmZy§fnÂ 2F®¯n\v 
D¯cw FgpXpI. 
 ( 5 kvtImÀ hoXw.)           (2x 5=10) 

 

31. Calculate Index number of price from 

the following data by applying 

Laspeyer’s method. 
 2008 2009 

commodity price qty price qty 

A 

B 

C 

D 

2 

5 

4 

2 

8 

10 

14 

19 

4 

6 

5 

2 

3 

9 

13 

10 

 

31. Xmsg X¶ncn¡p¶ Umä D]tbmKn¨v 
emkv]nbÀ coXn {]Imcw hne kqNIm¦w 
IW¡m¡pI. 
 

 2008 2009 

Nc¡v hne Afhv hne Afhv 

A 2 8 4 3 

B 5 10 6 9 

C 4 14 5 13 

D 2 19 2 10 
 

32. What is green Revolution? What are its 

advantages and disadvantages? 

32. F´mWv lcnX hn¹hw? AXnsâ 
t\«§fpw tIm«§fpw FgpXpI. 

33. Explain various methods for primary 

data collection 

33. {]mYanI Z¯§Ä tiJcn¡p¶Xn\pff 
hnhn[ coXnIÄ hnhcn¡pI? 

 

Answer any 2 questions from 34 to 36. 

Each carries 8 scores (2 x 8 =16) 

34 apXÂ 36 hscbpff tNmZy§fnÂ 2 F® 
¯n\v D¯cw FgpXpI. 
 ( 8 kvtImÀ hoXw.)           (2x8=16) 

 

34. (a) What is poverty? 

  

(b) What are the 3 approaches 

implemented by the government for 

eradicating poverty?      

             

(c) Critically evaluate poverty 

alleviation programmes introduced in 

India.                                              

34. (a) Zmcn{Zw \nÀh¨n¡pI        
     
 (b) Zmcn{Zy \nÀ½mÀP\¯n\mbn 

Kh¬saâv \S¸nem¡nb {XnXe 
kao]\§Ä hniZam¡pI   
    

 (c) C´ybnÂ \S¸nem¡nb 
Zmcn{Z\nÀ½mÀP\ ]cn]mSnIsf 
hnaÀi\mßIambn hnebncp¯pI                   
 

 

35. (a) Define sustainable development?                                                

                                                        

(b)What are the strategies adopted for 

sustainable development    

35. (a) kpkvØnc hnIk\w F¶       
    Bibs¯ \nÀh¨n¡pI            

 
(b) kpØnc hnIk¯n\mbn 

kzoIcn¨ncn¡p¶ X{´§Ä 
hniZam¡pI                   
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36. The following table shows daily wages 

and number of workers in a factory. 

Find Mean, Median and Mode                                           

(8) 

Daily wages Number of 

workers 

20-40 2 

40-60 4 

60-80 12 

80-100 20 

100-120 32 

120-140 25 

140-160 5 
 

36. Hcp ^mIvSdnbnse ZnhkthX\hpw 
sXmgnemfnIfpsS F®hpw Xmsg 
sImSp¯ncn¡p¶p. am[yw, a[ym¦w, 
_lpeIw Ch I−p]nSn¡pI.    

 

ZnhkthX\w sXmgnemfnIfpsS 
F®w 

20 þ 40 2 
40 þ 60 4 
60 þ 80 12 
80 þ 120 20 
100 þ 120 32 
120 þ 140 25 
140 þ 160 5 
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